



Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2)

By Graham Sumner

[Download now](#)

[Read Online](#) 

Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner

The armour and weapons of the Roman army have long been the subject of intense research and speculation. While much has been published on their arms and armour, however, the actual clothing of Imperial soldiers has largely been overlooked. In this second part of a rigorous study of the literary, sculptural, pictorial and archaeological evidence, the specialist author-artist examines the clues which enable us to attempt reconstructions of items worn by officers and men all over the empire during the two centuries between the reign of Septimius Severus and the twilight years of Stilicho.

 [Download Roman Military Clothing \(2\): AD 200–400 \(Men-at- ...pdf](#)

 [Read Online Roman Military Clothing \(2\): AD 200–400 \(Men-a ...pdf](#)

Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2)

By Graham Sumner

Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner

The armour and weapons of the Roman army have long been the subject of intense research and speculation. While much has been published on their arms and armour, however, the actual clothing of Imperial soldiers has largely been overlooked. In this second part of a rigorous study of the literary, sculptural, pictorial and archaeological evidence, the specialist author-artist examines the clues which enable us to attempt reconstructions of items worn by officers and men all over the empire during the two centuries between the reign of Septimius Severus and the twilight years of Stilicho.

Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner Bibliography

- Sales Rank: #2192847 in Books
- Published on: 2003-05-20
- Released on: 2003-05-20
- Original language: English
- Number of items: 1
- Dimensions: .37" h x .1" w x 7.17" l, .36 pounds
- Binding: Paperback
- 48 pages



[Download Roman Military Clothing \(2\): AD 200–400 \(Men-at- ...pdf](#)



[Read Online Roman Military Clothing \(2\): AD 200–400 \(Men-a ...pdf](#)

Download and Read Free Online Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner

Editorial Review

From the Publisher

Packed with specially commissioned artwork, maps and diagrams, the Men-at-Arms series is an unrivalled illustrated reference on the history, organisation, uniforms and equipment of the world's military forces, past and present.

About the Author

Graham Sumner was born in 1958. He studied illustration at Wrexham Art School and has specialised in archaeological reconstruction drawings. Graham has been involved with the Ermine Street Guard for nearly 20 years. He has written a number of articles on the Roman Army for Military Illustrated magazine and was the author of the popular Roman Army: Wars of the Empire in Brassey's History of Uniform series. This is his second book for Osprey.

Users Review

From reader reviews:

Melvin Loch:

Spent a free time to be fun activity to try and do! A lot of people spent their spare time with their family, or all their friends. Usually they accomplishing activity like watching television, gonna beach, or picnic inside the park. They actually doing same thing every week. Do you feel it? Will you something different to fill your own personal free time/ holiday? Could possibly be reading a book may be option to fill your cost-free time/ holiday. The first thing that you will ask may be what kinds of guide that you should read. If you want to try out look for book, may be the guide untitled Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) can be very good book to read. May be it might be best activity to you.

Nathan Barnes:

The book Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) has a lot details on it. So when you check out this book you can get a lot of advantage. The book was compiled by the very famous author. McDougal makes some research before write this book. This particular book very easy to read you will get the point easily after perusing this book.

Tracy Painter:

In this age globalization it is important to someone to find information. The information will make professionals understand the condition of the world. The health of the world makes the information simpler to share. You can find a lot of recommendations to get information example: internet, paper, book, and soon. You will see that now, a lot of publisher that print many kinds of book. The book that recommended to your account is Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) this publication consist a lot of the information with the condition of this world now. This kind of book was represented so why is the world

has grown up. The terminology styles that writer make usage of to explain it is easy to understand. Often the writer made some research when he makes this book. That is why this book acceptable all of you.

David Earnest:

What is your hobby? Have you heard which question when you got students? We believe that that problem was given by teacher on their students. Many kinds of hobby, Everybody has different hobby. Therefore you know that little person like reading or as reading become their hobby. You need to understand that reading is very important along with book as to be the matter. Book is important thing to incorporate you knowledge, except your own teacher or lecturer. You find good news or update in relation to something by book. Numerous books that can you choose to adopt be your object. One of them is this Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2).

**Download and Read Online Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner
#NUGH0VT6AE8**

Read Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner for online ebook

Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner Free PDF d0wnl0ad, audio books, books to read, good books to read, cheap books, good books, online books, books online, book reviews epub, read books online, books to read online, online library, greatbooks to read, PDF best books to read, top books to read Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner books to read online.

Online Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner ebook PDF download

Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner Doc

Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner MobiPocket

Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner EPub

NUGH0VT6AE8: Roman Military Clothing (2): AD 200–400 (Men-at-Arms) (v. 2) By Graham Sumner